Precalculus- Mini Unit Sequences and Series HW
Day 1 Homework

Directions 1-4: Determine whether the following sequences are arithmetic or not. If it is arithmetic, find the
common difference.
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6. Write the first five terms of the sequence a
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7. Write the first five terms of the sequence defined recursively “ .
A :ﬂ Uy = —4
(
O‘z‘o\l”q :q—"l—;) mq-azhl—l: “'L\:-—bs
0\3: O\Z-LI: S‘LIT-“D 0\5:0\‘4—4—':-’5-4 ‘.'-7
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10. Given the series -12+2+16+..+506, determine how many terms are being added; then find the sum.
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11. Write the formula for the nth term of the arithmetic sequence if a, =—10 and a,, =-25.
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